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fo’k; & vkWVkseksckbZy         fo’k; dksM & 903 
Suject - Automobile         Suject Code - 903  
le; & 03 ?k.Vs        iw.kkZad & 100 
Time – 3 Hours        Maximum Marks – 100 
 

funsZ”k % ¼i½ lHkh iz”u vfuok;Z gSA 
All Questions are compulsory. 

¼ii½ iz”u Ø- 1 esa nks [k.M gS& ¼v½ cgqfodYih; iz”u  rFkk ¼c½ fjDr LFkkuksa dh 
iwfrZ dhft,A  
Question No. 1 contain two parts (A) Multiple Choice questions and  
(B) Fill in the Blanks 

¼iii½ iz”u & i= N% [k.Mksa esa foHkkftr gSA 
Question paper is divided in six parts.  

¼iv½ iz”u & i= esa dqy 25 iz”u gSA 
  In question paper total nos. of question are 25  

 
 

[k.M ¼v½ Part – A 

¼izR;sd iz”u 01 vad dk gS½ 

(Each question carries 2 marks.) 

iz”u Øekad 01 ¼v½ fuEu esa ls lgh fodYi pqudj fyf[k, % 

 (A) Select the correct option from the following and write it 

 ¼i½ ,d uoHkqt esa fdruh Hkqtk,a gksrh gSa %& 

 ¼v½ pkj    ¼c½ N% 

¼l½ lkr    ¼n½ buesa ls dksbZ ugha 

A nonagon is a plane stracture of how many sides :- 

(a) Four    (b) Six 

(c) Seven    (d) None of this 

¼ii½ batu dh xfr fdlls ekik tkrk  gS %& 

 ¼v½ vkWMksehVj   ¼c½ LihMksehVj  

¼l½ VSdksehVj     ¼n½ buesa ls dksbZ ugha 

 

 



Engine speed is aneasured by  :- 

(a) Odometer    (b) Speedometer 

(c) Technometer   (d) None of this 

¼iii½ esys,V fdl lkexzh dk cuk gksrk gS %& 

 ¼v½ yksgk     ¼c½ ydM+h 

¼l½ bLikr     ¼n½ ,sY;wfeu;e 

What material is the mallet made of :- 

(a) Iron    (b) Wood 

(c) Steet    (d) Alumimium 

¼iv½  gFkksM+s dk mi;ksx fd;k tkrk gS & 

 ¼v½ uV [kksyus ds fy;s  ¼c½ f[ky fudkyus ds fy;s 

¼l½ Bksdus ds fy;s   ¼n½ c vkSj l nksuksa 

Hammer is used for :- 

(a) To lossen Nut   (b) To open Nails 

(c) To pust    (d) Both B and C 

  
¼v½ Vk;j cukus ds fy;s mi;ksx fd;k tkrk gSS %& 

 ¼v½ izkd`frd jcj   ¼c½ IykfLVd 

¼l½ ydM+h     ¼n½ ;s lHkh 

Used to make tyres :- 

(a) Natural Rubber   (b) Plastics 

(c) Wood    (d) All of this 

 

 [k.M &1 ¼c½ fjDr LFkkuksa dh iwfrZ dhft, %&  
  (B) Fill in the Blanks :- 

1- cgqHkqt --------------------------------------------- ls vf/kd Hkqtkvksa dh ,d lery lajpuk gS \ 

A plygoan is a plane structure of more than ----------------------------------sides. 

 2- nqfu;k ds izkd`frd jcj mRiknu dk yxHkx --------------------------------------% okguksa ds Vk;j cukus 
ds fy, mi;ksx fd;k tkrk gSA 
Around-------------------------precent of the worlds natural rubber production is used to make tires 
for vehicles. 



3- xzhl xu dk;Z”kkyk vkSj xsjt dk  --------------------------------------------- ftls Lusgu ds fy;s iz;ksx 
fd;k tkrk gSA 

   Grease gun is an ---------------------for workshop and garage. which is used for lubrication. 

4- ok;q fQYVj dk mi;ksx ---------------------------------------------ds fy;s fd;k tkrk gS\ 

Air Filters are used to ------------------------------------------  

 5- fcØh O;fDr dks eqLdqjkrs---------------------------------------------ds lkFk xzkgdksa dk Lokxr djuk pkfg,A 

Sales person should welcome customers with a smiling --------------------- 

 

[k.M ¼c½ Part – B 

¼izR;sd iz”u 02 vad dk gS½ 

(Each question carries 2 marks.) 

 

iz”u Øekad 2%& bathfu;fjax eVsfj;y dks fdrus Hkkxksa esa ckaVk x;k gSa\ 
 How many parts of the engineering material is dived \ 

iz”u Øekad 3%& LVªksd D;k  gSa\ 
What is Stroke\ 

 
iz”u Øekad 4%& gLr vkStkj D;k gSa\ 

What is Hand Tool 
iz”u Øekad 5%& xzkgd lsok D;ksa vko”;d gSa\ 

Why customer service is necessary\ 
 

iz”u Øekad 6 %& uokpkj dk egRo crkb, gS \ 
Explain the important of Innovation? 
 

iz”u Øekad 7 %& lsok fu;e iqfLrdk dk egRo crkb, \ 
Write the importance of service manual book? 
 

[k.M ¼l½ Part – C 

¼izR;sd iz”u ij 3 vad gSA½ 

 (Each question carries 3 marks.) 

iz”u Øekad 8 %& vkWVkseksckbZy esa iz;ksx dks tkus okyh fofHkUu izdkj dh bathfu;fjax 
lkefxz;k¡ D;k gS\ 

What are the different types of Engineering material used in Automobiles? 
 

iz”u Øekad9 %& psfpl Qzse ds dk;Z le>kb;s\ 

  Explain the function of the chassis frame? 
 



iz”u Øekad 10%& Lusgd dk D;k vFkZ gS\ le>kb;sA 

Explain What is Lubricant? 
 
 

iz”u Øekad 11%& lsok fu;e iqfLrdk dh fo’k; lwph D;k gS \ 

What is the content of the service manual? 
 

[k.M ¼n½ Part – D 

¼izR;sd iz”u ij 4 vad gSA½ 

     (Each question carries 4 marks.) 

iz”u Øekad 12%& ,d ljy js[kk dks ik¡p cjkcj Hkkxksa esa foHkkftr dhft,\ 
Divide a straignt line into 5 (five) Equal parts? 

vFkok ¼OR½ 
  izdkj nzokjk lekUrj js[kk,s f[kfpa;s\ 

Draw parallef line using Divider ? 
 

iz”u Øekad 13%& batu dh {kerk dks le>kb,\  
Explain Engine capacity? 

vFkok ¼OR½ 
  flysaMjksa dh la[;k ds vuqlkj batu dk oxhZdj.k dhft,A ¼dksbZ 4 fcanq½       

Classify the engine according to the number of cylinders? (write any 4 points) 
 

iz”u Øekad 14%& ekiu ;a=ksa ds mi;ksx dks le>kb,\ 

Explain the use of measuring Instrument? 
vFkok ¼OR½ 

  LØw xst fdl dk;Z ds fy;s mi;ksx fd;k tkrk gS\ le>kb,A 
  Explain what the screw gauge is used for? 
 
iz”u Øekad 15 %&okgu dh lQkbZ D;ksa vko”;d gS\ le>kb,A 

Explain  why vehicle cleanllness is necessary? 

vFkok ¼OR½ 
  okgu lQkbZ ds eq[; pj.k D;k & D;k gS le>kb,\ 
  Explain what is the main stage of vehicle cleaning? 
 
iz”u Øekad 16 %& xzkgd lsok esa “kkjhfjd Hkk’kk@lapkj dk D;k egRo gS\ 

What is the importance of body language communication in customer service? 

vFkok ¼OR½ 
  foØ; O;fDr ¼lsYlesu½ dks vius mRikn ds ckjs esa tkuuk D;ksa vko”;d gS\ 
  Why a sales person needs to know about his product? 
 
iz”u Øekad 17 %& /kqykbZ dh eq[; izfØ;k D;k gS le>kb,\ 



  Explain what is the main process of Washing? 
vFkok ¼OR½ 

e”khuu izfØ;k ds eq[; pj.k dks le>kb,\ 
  Explain the main steps of the machining 
 

[k.M ¼b½ Part – E 

¼izR;sd iz”u ij 5 vad gSA½ 

     (Each question carries 5 marks.) 
 

iz”u Øekad 18 %&xfM+;ksa esa rsy cnyuk D;ksa vko”;d gS le>kb,\ 
  Explain why it is necessary to change oil on a vechicles? 
 

vFkok ¼OR½ 
rsy fQYVj ds egRo dks le>kb,\ 

  Explain the importance of oil filter ? 
 
 
iz”u Øekad 19 %& fuEu dks le>kb,\ 
  ¼v½ xeZ vkSj BaMh lhVs ¼c½ pkch ,Q- vks- ch- 

Explain the following. 
(a) Hot & cold seat  (b) Key F.O.B. 

vFkok/OR 

  fuEu dks le>kb,\ 
¼v½ ekxZfuns”ku iz.kkyh ¼c½ gkbZfczM okgu 
Explain the following. 
(a) Marigationl system (b) Hybrid vehicles 
 
 

iz”u Øekad 20 %& yEcdks.kh; iz{ksi.k vkSj ledks.kh; iz{ksi.k D;k gS\ 
What is orthographic and isometric projection 

vFkok/OR 

  bathfu;fjax Mªkbax cukus ds fy;s vko”;d pj.k D;k gS fyf[k,\ 
Write down the required step to make on engineering drawing? 
 

iz”u Øekad 21 %& cSVjh ds pktZ@fMLpktZ pØ dks le>kb,\ 
  Explain battery charge discharge cycle? 

vFkok@OR 
,d vPNs Lusgu ds xq.k fyf[k,\ 
Wrtie the qualities of a good Lubrication? 

 
iz”u Øekad 22 %& casp okbl vkSj QkbYl ¼jsfrdk½ dk mi;ksx fdu dk;ksZ esa fd;k tkrk gS\  
  What functions is the bench voice and file used for ? 

vFkok@OR 
xzakbfMx e”khu vkSj fxz”k xu dk mi;ksx fdu & fdu dk;ksZ eas fd;k tkrk gS\ 
What funcation is the Grinding machine and Grease Gun used for? 
 

 



iz”u Øekad 23 %& jksfyax ¼osYyu½ ds izfØ;k dks crkb,\ 
  Explain the rolling process? 

vFkok@OR 
Qkstu ¼Qksftax½ ds izfØ;k dks crkb,\ 
Explain the forging process? 
 

[k.M ¼d½ Part – K 

fuca/kkRed iz”u & ¼izR;sd iz”u ij 6 vad gSA½ 

Essay question – (Each question carries on 6 mark.) 
   

iz”u Øekad 24 %& Mªkbax “khV dk foU;kl ¼ysvkmV½ cukb, \ vkSj egRoiw.kZ fcanqvksa dks 
crkb,A 
Configure the drawing sheet layout and state the important points ? 

vFkok@OR 
,d fu;fer ‘kV~Hkqt dh jpuk dj jpuk dj in fy[ks\ 
Construct on regular Hexagon and Write down its steps? 

 
iz”u Øekad 25 %&  “khryyu iz.kkyh dk egRo foLrkj ls le>kb,\ 

Explain the importance of cooling system in details? 
vFkok@OR 

bZ/ku iznk; iz.kkyh ds eq[; pj.k vkSj mi;ksxh lkexzh dk fooj.k fyf[k,\ 
  Write the details of main stages and useful material of fuel supply system? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 



izkn”kZ iz”ui= & II 

d{kk 10oha 
 

fo’k; & vkWVkseksckbZy         fo’k; dksM & 903 
Suject - Automobile         Suject Code - 903  
le; & 03 ?k.Vs        iw.kkZad & 100 
Time – 3 Hours        Maximum Marks – 100 
 

funsZ”k % ¼i½ lHkh iz”u vfuok;Z gSA 
All Questions are compulsory. 

¼ii½ iz”u Ø- 1 esa nks [k.M gS& ¼v½ cgqfodYih; iz”u  rFkk ¼c½ fjDr LFkkuksa dh 
iwfrZ dhft,A  
Question No. 1 contain two parts (A) Multiple Choice questions and  
(B) Fill in the Blanks 

¼iii½ iz”u & i= N% [k.Mksa esa foHkkftr gSA 
Question paper is divided in six parts.  

¼iv½ iz”u & i= esa dqy 25 iz”u gSA 
  In question paper total nos. of question are 25  

 
 

[k.M ¼v½ Part – A 

¼izR;sd iz”u 01 vad dk gS½ 

iz”u Øekad 01 ¼v½ fuEu esa ls lgh fodYi pqudj fyf[k, %  

¼i½ prqHkZt fdruh Hkqtkvksa dh lajpuk gSa %& 

 ¼v½ nk s   ¼c½ rhu 

¼l½ pkj   ¼n½ ik¡p 

¼ii½ LiSuj dk iz;ksx fdl fy, gksrk gS %& 

 ¼v½ cksYV dks dlus  ¼c½ uV dks [kksyus  

¼l½ uV dk drZu   ¼n½ uV dks p<+kus 

¼iii½ Vwy ckWDl laxzfgr djus ds fy, iz;ksx fd;k tkrk gS %& 

 ¼v½ Vwy vkSj vkStkj   ¼c½ rsy 

¼l½ ikuh     ¼n½ Lis;j ikVZ~l 

¼iv½ A.B.S.¼,-ch-,l-½ dk iw.kZ:i gS & 

 ¼v½ ,UVh czsd flLVe  ¼c½ ,UVh ykWfdax czsd flLVe 

¼l½ ,UVh cz”k flLVe  ¼n½ buesa ls dksbZ ugha 



  
¼v½ psfpl fdl lkexzh ls curh gSS %& 

 ¼v½ ydM+h    ¼c½ rsy 

¼l½ /kkrq     ¼n½ IykfLVd 

 iz”u  & 1 ¼c½ fjDr LFkkuksa dh iwfrZ dhft, %&  
1- f=Hkqt --------------------------------------------- Hkqtkvksa dh ,d lery lajpuk gS \ 

  2- fjosVu /kkrq dk;Z dks --------------------------------------lcls izkphu izfØ;k esa ls ,d gSA 

3- gFkkSM+s dk iz;ksx --------------------------------------------- ds fy, fd;k tkrk gSA 

4- bZ/ku fQYVj dk mi;ksx ---------------------------------------------ds fy;s fd;k tkrk gS\ 

5- okgu dk foØ;---------------------------------------------ds }kjk fd;k tkrk gSA 

 

[k.M ¼c½ Part – B 

¼izR;sd iz”u 02 vad dk gS½ 

(Each question carries 2 marks.) 

 

iz”u Øekad 2%& bathfu;fjax lkexzh fdls dgrs gSa\ 
  

iz”u Øekad 3%& T.D.S. vkSj B.D.S. dk iw.kZ:Ik fyf[k,\ 
 
iz”u Øekad 4%& LiSuj D;k gSa\ 
 
iz”u Øekad 5%& vkWVkseksckbZy nqdku esa xzkgd lsok D;ksa vko”;d gSa\ 

 

iz”u Øekad 6 %& uohurkvksa ds mi;ksx ds D;k ykHk  gS \ 
 
iz”u Øekad 7 %& lsok fu;e iqfLrdk ds mi;ksx djus ds D;k ykHk gS \ 

 
[k.M ¼l½ Part – C 

¼izR;sd iz”u ij 3 vad gSA½ 

iz”u Øekad 8 %& bathfu;jh lkexzh dk oxhZdj.k djsa\ 

iz”u Øekad9 %& batu ds dk;Z cryk,¡\ 

iz”u Øekad 10%& “khryu ls vki D;k le>rs gSa\ 
 
iz”u Øekad 11%& lsok fu;e iqfLrdk dk mi;ksx D;ksa fd;k tkrk gS \ 



 
[k.M ¼n½ Part – D 

¼izR;sd iz”u ij 4 vad gSA½ 

iz”u Øekad 12%& vkjs[k.k iSekuk ¼Mªkbax Ldsy½ dks le>kb, \ 
vFkok ¼OR½ 

   ewy js[kkvksa ds izdkj fyf[k,\ 
 

iz”u Øekad 13%& Lusgu iz.kkyh dks foLrkj ls le>kb, \  
vFkok ¼OR½ 

  fofHkUu izdkj ds Lusgdksa ds chp varj fyf[k,\       
 

iz”u Øekad 14%& fo|`r ekiu midj.kksa dh Hkwfedk crk;sa\ 

vFkok ¼OR½ 
  eYVhehVj dk lapkyu vkSj izpkyu cryk;sa\ 
   
iz”u Øekad 15 %&rsy ¼oil½ dks cnyuk D;ksa vko”;d gS\A 

vFkok ¼OR½ 
  fdUgha pkj gLr vkStkjksa dk iz;ksx crkb, \ 
   
iz”u Øekad 16 %& vkWVkseksckbZy nqdku esa fcØh O;fDr ds egRoiw.kZ dk;ZA dÙkZO; D;k & 

d;k gksrs gS le>kb,\ 

vFkok ¼OR½ 
  xzkgd lsok ds egRoiw.kz igyw D;k gS\ le>kb,A 
   
iz”u Øekad 17 %& e”khuu ¼e”khfuax½ vkijs”ku ds fofHkUu izfØ;kvksa dks fyf[k,\ 
   

vFkok ¼OR½ 
fo|`r vkdZ osfYMax dh dk;Z & fof/k fyf[k,\ 

   
[k.M ¼b½ Part – E 

¼izR;sd iz”u ij 5 vad gSA½ 

 

iz”u Øekad 18 %& batu vkW;y dks cnyuk D;ksa vko”;d gSa\ 
   

vFkok ¼OR½ 
bZ/ku fQYVj ds egRo fyf[k,\ 

   
 
iz”u Øekad 19 %& vkWVkseksckbZy lqj{kk midj.kksa ds D;k egRo gS\ le>kb,A- 

vFkok/OR 

  ABS vkSj ,;j cSx dks le>kb,\ 
 
 



iz”u Øekad 20 %& psfll dk oxhZdj.k dj le>kb,\ 
vFkok/OR 

  vkWVkseksckbZy ckafM ds fofHkUu vo;o ds uke fy[kdj le>kb,\ 
 

iz”u Øekad 21 %& leehfr; iz{ksi.k ¼vklksesfVªd izkstsD”ku½ dks fp= lfgr le>kb,\ 
   

vFkok@OR 
yEcdks.kh; iz{ksi.k ¼vk|ksZxzkfQd izkstsD”ku½ dks fp= lfgr le>kb,\ 

 
iz”u Øekad 22 %& <YkkbZ ¼dkfLVax½ ls vki D;k le>rs gS\ blds ewy pj.k fyf[k,A  
   

vFkok@OR 
vkWDlh ,lhfVyhu xSl osfYMax dh dk;Zfof/k fyf[k, \ 
 

iz”u Øekad 23 %& ckg~; dSfyij vkSj vkarfjd dSfyij esa varj crykb,\ 
   

vFkok@OR 
fuEu dks le>kb, %& 
¼v½ ,;j daizslj ¼c½ ifg;k larqyd ¼Oghy cSysalj½ 
 
 

[k.M ¼d½ Part – K 

fuca/kkRed iz”u & ¼izR;sd iz”u ij 6 vad gSA½ 
   

iz”u Øekad 24 %& ,d leckgq f=Hkqt dh lajpuk dhft,A ftldh Hkqtk 3CM gSA 
vFkok@OR 

fdlh o`Ùk dk dsUnz Kkr dj jpuk ds in fyf[k,\ 
 
iz”u Øekad 25 %&  LVh;fjax ls vki D;k le>rs gSa\ fofHkUu izdkj ds fLV;fjax fx;j dkSu 

ls gSaA 
vFkok@OR 

QzaV ,Dly ¼vxz/kqjk½ vkSj fj;j ,Dly ¼i”p /kqjk½ dk iz;ksx fdlfy, fd;k 
tkrk gS\ le>kb,A 

   
 
 
 
 
 
 
 
 
 
 
 
 
 



 


